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QUESTION 1

In which two areas of vRealize Automation could an administrator view a flow chart of a failed deployment? (Choose
two.) 

A. Infrastructure > Activity > Requests 

B. Extensibility > Events 

C. Extensibility > Library > Event Topics 

D. Infrastructure > Machines 

E. Deployments > History > Provisioning Diagram 

Correct Answer: AE 

 

 

QUESTION 2

Which two actions can be performed against a Cloud Assembly machine-based deployment? (Choose two.) 

A. Run machine-level actions including adding USB controller. 

B. Change lease for the deployment. 

C. Resize the deployment. 

D. Change machine IP address assignment to DHCP. 

E. Power off the deployment. 

Correct Answer: CE 

 

 

QUESTION 3

What are three advantages of using vRealize Automation Cloud over vRealize Automation on-premises? (Choose
three.) 

A. Reduce infrastructure maintenance and patching time 

B. Support for deploying workloads to public clouds 

C. Does not require any additional components to deploy and manage on-premises workloads 

D. The ability to run action based extensibility (ABX) 

E. Earlier access to new features 
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F. License key is not required 

Correct Answer: ABC 

 

 

QUESTION 4

Which type of cloud account is configured during the Quickstart process? 

A. Google Cloud Platform 

B. Microsoft Azure 

C. VMware Cloud an AWS 

D. VMware vCenter Server 

Correct Answer: D 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.4/Getting-Started-Cloud-
Assembly/GUID91597976-E472-493B-8017-2D37DC8DC0E5.html 

 

QUESTION 5

What are two prerequisites for a vRealize Automation standard deployment? (Choose two.) 

A. IPv4 addresses 

B. DHCP server 

C. IPv6 addresses 

D. Load Balancer 

E. DNS server 

Correct Answer: AE 

 

 

QUESTION 6

An administrator will use the vRealize Automation Code Stream Smart Templates to trigger pipeline testing when there
are code changes in GitHub. 

Which template should the administrator use? (Choose the best answer.) 

A. Continuous Delivery 

B. Cloud Template 
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C. Blank Canvas 

D. Continuous Integration 

Correct Answer: D 

 

 

QUESTION 7

Which command should an administrator run to collect a vRealize Automation log bundle? (Choose the best answer.) 

A. kubectl –n prelude logs 

B. kubectl get pods --all-namespaces 

C. vracli log-bundle 

D. vracli vrli 

Correct Answer: C 

 

 

QUESTION 8

An administrator needs to create a custom form for a cloud template that has just been created. One of the form input
fields needs to be a drop-down that is populated through an external source. 

Which vRealize Automation service must the administrator use to complete this task? (Choose the best answer.) 

A. Service Broker 

B. Orchestrator 

C. Cloud Assembly 

D. Code Stream 

Correct Answer: A 

 

 

QUESTION 9

An administrator is configuring vRealize Automation to generate a unique machine naming convention for the deployed
resources. 

The machine name should meet the following criteria: 

XXX-YYY-ZZZ-## ac XXX – Cloud Zone YYY – Server Function YYY – Application ## – 2-digit running number 
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Which component should the administrator use to configure this policy? (Choose the best answer.) 

A. Cloud zones 

B. Machines 

C. Projects 

D. Capability tag 

Correct Answer: C 

 

 

QUESTION 10

The vRealize Orchestrator Service runs as a Kubernetes pod within each vRealize Automation appliance. Which three
containers make up the vRealize Orchestrator Service? (Choose three.) 

A. vco-server 

B. vro-controlcenter 

C. vco-inventory 

D. vco-controlcenter 

E. vco-polyglot-runner 

F. vro-server 

Correct Answer: ADE 

 

 

QUESTION 11

As part of a greenfield deployment, an administrator needs to set up an NSX-T Data Center cloud account. 

Which user role is required to create an NSX-T Data Center cloud account in vRealize Automation? (Choose the best
answer.) 

A. Cloud Assembly Administrator 

B. Cloud Assembly User 

C. Orchestrator Administrator 

D. NSX-T Data Center Enterprise Administrator 

Correct Answer: A 
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QUESTION 12

An administrator is looking to install SaltStack Config to integrate with existing vRealize Automation environment. 

Which two pre-requisites must be met to complete the installation using vRealize Suite Lifecycle Manager? (Choose
two.) 

A. Access to NSX-T Load Balancer 

B. Integrate vRealize Automation with Active Directory 

C. Access to a vRealize Automation tenant 

D. A valid vRealize Automation license key 

E. Access to NSX-T Data Center cloud account 

Correct Answer: BD 

 

 

QUESTION 13

An IT Director wants to integrate existing Amazon Web Services CloudFormation templates into a new vRealize
Automation deployment. 

How can the administrator achieve this? (Choose the best answer.) 

A. Deploy a Cloud Proxy into the appropriate region of the pre-configured Amazon Web Services cloud account. 

B. Add content sources in Service Broker from the pre-configured Amazon Web Services cloud account. 

C. Create and configure a custom integration into Cloud Assembly. 

D. Leverage Action Based Extensibility (ABX) to extend functionality, programmatically. 

Correct Answer: B 

 

 

QUESTION 14

Refer to the exhibit. 

An administrator successfully deploys vRealize Automation (vRA) and configures a new directory in vRealize Suite
Lifecycle Manager for the App-Dev team. The Add-Dev team needs to request catalog items and manage the
subsequent deployments. The company security policy requires that users be granted the least privileges necessary to
fulfill their role. 

The administrator is assigned a ticket to address the issue that when the App-Dev members log into vRA, they receive
the error shown in the exhibit. Based on initial investigation, all of the users experiencing the issue are members of the
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same Active Directory Group: App-Dev-Users. Upon review from within vRA Identity and Access Management, all of the
users reporting the issue appear under the Active Users tab. 

Which two actions should the administrator take within Identity and Access Management to resolve the reported issue
while adhering to the security policy? (Choose two.) 

A. Under Enterprise Groups, assign the Service Broker User service role to the App-Dev-Users group. 

B. Under Active Users, assign the Service Broker Administrator service role to each of the impacted users. 

C. Under Enterprise Groups, assign the Service Broker Administrator service role to the App-Dev-Users group. 

D. Under Enterprise Groups, assign the Organization Member role to the App-Dev-Users group. 

E. Under Active Users, assign the Organization Owner role to each of the impacted users. 

Correct Answer: AE 

 

 

QUESTION 15

Which two types of cloud accounts support IP address assignment in a network profile? (Choose two.) 

A. VMware Cloud on AWS 

B. vCenter 

C. Amazon Web Services 

D. Microsoft Azure 

E. Google Cloud Platform 

Correct Answer: CD 
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